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QUESTION 1

Which two conditions would prevent a normal giveback operation? (Choose two.)
A. the presence of failed disks

B. active SnapMirror transfers

C. connected NFSv3 sessions

D. the presence of a failed IOM module

Correct Answer: AB

Reference: https://library.netapp.com/ecmdocs/ECMP1210206/html/GUID-
E37EC334-C009-4A6A-82A8BE383D6D5567.html

QUESTION 2

Which two statements are true concerning FlexClone volumes? (Choose two.)

A. A FlexClone volume can be created in a different aggregate than the parent volume if space is an issue.

B. A FlexClone volume is created with the same language setting as its parent.

C. A FlexClone volume is created, any LUNs present in the parent volume are already online and mapped.

D. A FlexClone volume is a point-in-time, writable copy of the parent FlexVol volume.
Correct Answer: BD

Reference:

https://library.netapp.com/ecmdocs/ECMP1196986/html/GUID-284A0B23-DE4D-4E97-B333EF4646D2CB1D.html

QUESTION 3

Click the exhibit button.

::> gos statistics volume latency show —-volume csdata —-vserver nasl

Workload ID Latency Network Cluster Data Disk

csdata—-widl234 1234 12.68ms 74.00us Oms 835.00us 10.77ms
csdata—widl234 1234 12.12ms 713.00us Oms €43.00us 10.07ms
csdata—-widl234 1234 12 .42ms 73.00us Oms ©43.00us 10.3Z2ms

QoS
Oms
Oms
Oms

NVEAM
Oms
Oms
Oms

Based on the QoS output from the storage controller, your database administrator is complaining of slow read and write

performance.

Referring to the exhibit, what would be two appropriate actions to improve performance for both reads and writes?
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(Choose two.)

A. Move the workload to an SSD aggregate.

B. Apply a QoS maximum policy to the csdata-wid1234 workload.
C. Add a Flash Pool to the existing aggregate.

D. Upgrade the controller\\'s NVRAM.

Correct Answer: BC

QUESTION 4

An upgrade to ONTAP 8.3 and later fails because the cluster contains 32-bit data.
In this scenario, which statement is correct?

A. Ignore the warning, and use the -force parameter to complete the upgrade.

B. ONTAP 8.3 and later supports 32-bit data format.

C. Identify and move the volume with 32-bit data to another node of the cluster.
D. Identify the 32-bit data and either convert, remove or move out of the cluster.

Correct Answer: D

QUESTION 5

A customer explains that the Active 1Q section of the NetApp Support site indicates that their controller has not called
home within the past three months. They are not using a mail host to deliver AutoSupport notifications. When
troubleshooting the AutoSupport message, you enter the event log show messagename asup.post* command.

In this scenario, what would you expect to see on the console?

A. event-management system (EMS) events for the AutoSupport system that are related to SMTP

B. a history of all error events related to the AutoSupport system

C. event-management system (EMS) events for the AutoSupport system that are related to HTTP/HTTPS

D. event-management (EMS) events for the AutoSupport system that are related to any protocol

Correct Answer: A
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